

Mr. Stacy Slawinski, PE May 12, 2021

County Engineer Project No: 008032
Fort Bend County Invoice No: 421061

Engineering Department 1517 Eugene Heimann Circle

Richmond, TX 77469

Fort Bend County PO#199020

Project Name: 2020 Project Management Services

Project No. 20001x,

Total contract amount \$1,000,000.00

## For Professional Services rendered from April 3, 2021 to April 30, 2021:

20201 - Lake Olympia Parkway (17201)

## **Professional Personnel**

	Hours	Rate	Amount	
Associate Engineer				
Edwards, Katlyn	.50	130.00	65.00	
Hurt, Ryan	1.00	130.00	130.00	
Totals	1.50		195.00	
Total Labor				195.00
				\$195.00

## 20202 - Chimney Rock (17202)

## **Professional Personnel**

	Hours	Rate	Amount	
Associate Engineer				
Edwards, Katlyn	.50	130.00	65.00	
Hurt, Ryan	1.00	130.00	130.00	
Totals	1.50		195.00	
Total Labor				195.00
				\$195.00

#### 20203 - Bates Lane

## **Professional Personnel**

	Hours	Rate	Amount	
Project Manager				
Bathe, Cody	6.00	205.00	1,230.00	
Odreman, Gabriel	6.00	205.00	1,230.00	
Associate Engineer				
Edwards, Katlyn	.50	130.00	65.00	
Hurt, Ryan	7.00	130.00	910.00	
Richardson, Mark	6.00	130.00	780.00	
Totals	25.50		4,215.00	
Total Labor				

4,215.00

\$4,215.00

20204 - Beechnut (17204)

Project	008032	Fort Bend County 2020 Mobility Bon	nd	Invoice	421061
Professiona	al Personnel				
		Hours	Rate	Amount	
	ate Engineer	50	120.00	<i>(5.</i> 00)	
	dwards, Katlyn	.50 1.00	130.00 130.00	65.00 130.00	
п	urt, Ryan Totals	1.50	130.00	195.00	
	Total Labor	1.50		173.00	195.00
	Total Labor				\$195.00
20205 BI					
	neridge Road Widening				
Professiona	al Personnel		<b>.</b>		
D	· Managan	Hours	Rate	Amount	
	t Manager athe, Cody	4.00	205.00	820.00	
	dreman, Gabriel	8.00	205.00	1,640.00	
	ate Engineer	8.00	203.00	1,040.00	
	urt, Ryan	9.50	130.00	1,235.00	
	ichardson, Mark	5.50	130.00	715.00	
	Totals	27.00		4,410.00	
	Total Labor				4,410.00
					\$4,410.00
					φ+,+10.00
20206 - Sie	nna Parkway Intersections				
	al Personnel				
1 TOICSSIOIR	ar i ci sonnei	Hours	Rate	Amount	
Projec	t Manager	Hours	Kate	Amount	
	athe, Cody	2.00	205.00	410.00	
	dreman, Gabriel	2.00	205.00	410.00	
	ate Engineer				
	urt, Ryan	.50	130.00	65.00	
	ichardson, Mark	6.50	130.00	845.00	
	Totals	11.00		1,730.00	
	Total Labor				1,730.00
					\$1,730.00
20207 - Sie	nna Ranch				
Professiona	al Personnel				
		Hours	Rate	Amount	
	t Manager				
	dreman, Gabriel	2.00	205.00	410.00	
	ate Engineer				
	dwards, Katlyn	.50	130.00	65.00	
	urt, Ryan	6.00	130.00	780.00	
K	ichardson, Mark Totals	1.50 10.00	130.00	195.00 1,450.00	
	Total Labor	10.00		1,430.00	1,450.00
	Total Labor				•
					\$1,450.00
20208 - Tra	mmel Fresno				
Professiona	al Personnel				
		Hours	Rate	Amount	
Proiec	t Manager	110413	11111	Imount	
	dreman, Gabriel	5.00	205.00	1,025.00	

Project	008032	Fort Bend County 2020 Mobility Bond		Invoice	421061
Associ	iate Engineer				
	urt, Ryan	5.00	130.00	650.00	
Ri	ichardson, Mark	4.00	130.00	520.00	
	Totals	14.00		2,195.00	
	Total Labor				2,195.00
					\$2,195.00
20209 - Wa	atts Plantation Road				
Professiona	al Personnel				
		Hours	Rate	Amount	
Project	t Manager				
	athe, Cody	4.00	205.00	820.00	
O	dreman, Gabriel	7.00	205.00	1,435.00	
Associ	iate Engineer				
	urt, Ryan	7.00	130.00	910.00	
Ri	ichardson, Mark	5.50	130.00	715.00	
	Totals	23.50		3,880.00	
	Total Labor				3,880.00
					\$3,880.00
20210 - Wii	nkleman & Castlegate Dr				
Professiona	al Personnel				
		Hours	Rate	Amount	
Project	t Manager	Hours	Rate	Amount	
	athe, Cody	4.00	205.00	820.00	
	dreman, Gabriel	8.00	205.00	1,640.00	
Associ	iate Engineer				
H	urt, Ryan	8.00	130.00	1,040.00	
Ri	ichardson, Mark	8.00	130.00	1,040.00	
	Totals	28.00		4,540.00	
	Total Labor				4,540.00
					\$4,540.00
20218 - Mo	oore (17218)				
Professiona	al Personnel				
		Hours	Rate	Amount	
Associ	iate Engineer				
	dwards, Katlyn	.50	130.00	65.00	
	urt, Ryan	.50	130.00	65.00	
Ri	ichardson, Mark	1.00	130.00	130.00	
	Totals	2.00		260.00	
	Total Labor				260.00
					\$260.00
Reimbursab	ole Expenses				
	ible Expenses				
	Exp-Mileage			76.72	
Keiiii I	Total Reimbur	rsables	1.0 times	<b>76.72</b>	76.72
	2000 2100000				
					\$76.72

Project	008032	Fort Bend County 2020 Mobility I	Fort Bend County 2020 Mobility Bond		421061
Recap:		Current	Previous	To-Date	
Total I	Billings	23,341.72	49,132.50	72,474.22	
C	ontract Amount			1,000,000.00	
В	alance			927,525.78	
			<b>Total Due This</b>	Invoice:	\$23,341.72

**Remit Payment:** 575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079 T: (281) 589-7257 F: (281) 589-7309

Project	008032	Fort Bend County 202	20 Mobility Bond		Invoice	121061
Rillin	g Backup				Monde	w Moy 2 2021
		Ī	: 421061 D-+-	1 5 /1 2 /2021	Monda	ay, May 3, 2021
RPS Infras	tructure Inc. (Live)	Inv	voice 421061 Date	d 5/12/2021		12:41:02 PM
Profession	al Personnel					
I TOTESSION	ai i ei soimei		Hours	Rate	Amount	
Associate I	Engineer		Hours	Rate	Amount	
	9 - Edwards, Katlyn	4/8/2021	.50	130.00	65.00	
	helping with scope					
	9 - Hurt, Ryan	4/9/2021	1.00	130.00	130.00	
	Writing a details descript	tion of the project scopes	for the 2020 bond	mobility		
	program					
	Totals		1.50		195.00	
	Total Labor					195.0
						\$195.0
Profession	al Personnel					
			Hours	Rate	Amount	
Associate E	Engineer					
	9 - Edwards, Katlyn	4/8/2021	.50	130.00	65.00	
	helping with scope					
	9 - Hurt, Ryan	4/9/2021	1.00	130.00	130.00	
	Writing a details descript	tion of the project scopes	for the 2020 bond	mobility		
	program					
	Totals		1.50		195.00	
	Total Labor					195.00
						\$195.00
						φ193.00
Profession	al Personnel					
1 1 01 0 0 0 1 0 1 1	<b></b> 2 015002		Hours	Rate	Amount	
Project Ma	nager		110415	11000	11111041110	
.,	6 - Bathe, Cody	4/8/2021	3.00	205.00	615.00	
	Work on gathering information program project	nation for utilities coordi	nation meeting for			
	6 - Bathe, Cody	4/15/2021	1.00	205.00	205.00	
	Drove a project site to loutility meeting				203.00	
	6 - Bathe, Cody	4/30/2021	2.00	205.00	410.00	
	6 - Odreman, Gabriel	4/8/2021	2.00	205.00	410.00	
	Project finish up for bid					
	6 - Odreman, Gabriel	4/9/2021	1.00	205.00	205.00	
	Scoping communications	s with consultants				
	6 - Odreman, Gabriel	4/12/2021	1.00	205.00	205.00	
	Scope development for c	ontacting consultants for	proposals			
	6 - Odreman, Gabriel	4/13/2021	1.00	205.00	205.00	
	Scope development for c					
	6 - Odreman, Gabriel	4/20/2021	1.00	205.00	205.00	
	Defining scope and conta	acting consultant to seek t	fee proposal			
Associate I	_					
	9 - Edwards, Katlyn	4/8/2021	.50	130.00	65.00	

Project	008032	Fort Bend County 202	0 Mobility Bond		Invoice	421061
	helping prepare scope					
	9 - Hurt, Ryan	4/9/2021	1.00	130.00	130.00	
	Writing a details descrip program	tion of the project scopes f	For the 2020 bond	mobility		
	9 - Hurt, Ryan	4/12/2021	1.50	130.00	195.00	
		on for the 2020 bond proje	ct scope			
	9 - Hurt, Ryan	4/14/2021	1.00	130.00	130.00	
	Create a detailed desiption	on for the 2020 bond proje	ct scope			
	9 - Hurt, Ryan	4/15/2021	1.00	130.00	130.00	
	Site visit and Utility revi	iew report				
	9 - Hurt, Ryan	4/19/2021	.50	130.00	65.00	
	Updated Ulitiy charge for	or 2020 bond project				
	9 - Hurt, Ryan	4/26/2021	1.00	130.00	130.00	
	Preparing 2020 bond pro	eject exhibits				
	9 - Hurt, Ryan	4/27/2021	1.00	130.00	130.00	
	Preparing 2020 bond pro	eject exhibits				
	20 - Richardson, Mark	4/16/2021	1.00	130.00	130.00	
	Scoping and coordinatio standards and information	n with design engineer to e	ensure they have o	correct		
	20 - Richardson, Mark	4/21/2021	1.00	130.00	130.00	
	Draft of scope, exhibits,	and cost estimates for con-	sultant			
	20 - Richardson, Mark	4/22/2021	1.00	130.00	130.00	
	Draft of scope, exhibits,	and cost estimates for con-	sultant			
	20 - Richardson, Mark	4/27/2021	2.00	130.00	260.00	
	Utility Exhibits and info	rmation for 2020 bond pro	gram utility meet	ing		
	20 - Richardson, Mark	4/30/2021	1.00	130.00	130.00	
	Site visit and scope draft	ting for 2020 Bond Program	m			
	Totals		25.50		4,215.00	
	Total Labor					4,215.00
						\$4,215.00

**Professional Personnel** 

			Hours	Rate	Amount	
Associate E	ngineer					
001175	9 - Edwards, Katlyn	4/8/2021	.50	130.00	65.00	
	helping with scope					
	9 - Hurt, Ryan	4/9/2021	1.00	130.00	130.00	
	Writing a details descriptio	n of the project scopes	for the 2020 bond	mobility		
	program					
	Totals		1.50		195.00	
	Total Labor					195.00

\$195.00

## **Professional Personnel**

			Hours	Rate	Amount
Project Mana	ger				
	6 - Bathe, Cody	4/15/2021	2.00	205.00	410.00
	6 - Bathe, Cody	4/30/2021	2.00	205.00	410.00
	6 - Odreman, Gabriel	4/9/2021	2.00	205.00	410.00
	Scoping communications v	vith consultants			
	6 - Odreman, Gabriel	4/12/2021	1.00	205.00	205.00
	cc				
	6 - Odreman, Gabriel	4/13/2021	1.00	205.00	205.00
	Scope development for cor	tacting consultants for	proposals		

Project	008032	Fort Bend County 2020	Mobility Bond		Invoice	421061
	6 - Odreman, Gabriel	4/20/2021	1.00	205.00	205.00	
	Defining scope and conta	acting consultant to seek fee	e proposal			
	6 - Odreman, Gabriel	4/28/2021	2.00	205.00	410.00	
	Proposal negotiation and	document preparation for	scope definition			
	6 - Odreman, Gabriel	4/29/2021	1.00	205.00	205.00	
	Proposal negotiation and	document preparation for	scope definition			
Associate E	ngineer					
	9 - Hurt, Ryan	4/9/2021	1.00	130.00	130.00	
	Writing a details descript program	tion of the project scopes for	or the 2020 bond	mobility		
	9 - Hurt, Ryan	4/12/2021	1.00	130.00	130.00	
	Create a detailed desiption	on for the 2020 bond projec	t scope			
	9 - Hurt, Ryan	4/13/2021	2.00	130.00	260.00	
	Create a detailed desiption	on for the 2020 bond projec	t scope			
	9 - Hurt, Ryan	4/14/2021	.50	130.00	65.00	
	Create a detailed desiption	on for the 2020 bond projec	t scope			
	9 - Hurt, Ryan	4/15/2021	2.00	130.00	260.00	
	Site visit and Utility revi	ew report				
	9 - Hurt, Ryan	4/26/2021	2.00	130.00	260.00	
	Preparing 2020 bond pro	ject exhibits				
	9 - Hurt, Ryan	4/27/2021	1.00	130.00	130.00	
	Preparing 2020 bond pro	ject exhibits				
	20 - Richardson, Mark	4/16/2021	1.00	130.00	130.00	
	Scoping and coordination standards and information	n with design engineer to en n	nsure they have	correct		
	20 - Richardson, Mark	4/22/2021	1.50	130.00	195.00	
	Draft of scope, exhibits,	and cost estimates for cons	ultant			
	20 - Richardson, Mark	4/27/2021	2.00	130.00	260.00	
	Utility Exhibits and info	mation for 2020 bond prog	ram utility meet	ing		
	20 - Richardson, Mark	4/30/2021	1.00	130.00	130.00	
	Site visit and scope draft	ing for 2020 Bond Program	ı			
	Totals		27.00		4,410.00	
	Total Labor					4,410.00
						\$4,410.00

**Professional Personnel** 

			Hours	Rate	Amount	
Project Mana	nger					
	6 - Bathe, Cody	4/16/2021	2.00	205.00	410.00	
	6 - Odreman, Gabriel	4/22/2021	2.00	205.00	410.00	
	Defining scope and contacti	ng consultant to seek	fee proposal			
Associate En	gineer					
	9 - Hurt, Ryan	4/9/2021	.50	130.00	65.00	
	Writing a details description program	of the project scopes	for the 2020 bond	mobility		
	20 - Richardson, Mark	4/16/2021	2.00	130.00	260.00	
	Scoping and coordination w standards and information	ith design engineer to	ensure they have o	correct		
	20 - Richardson, Mark	4/22/2021	1.50	130.00	195.00	
	Draft of scope, exhibits, and	cost estimates for co	nsultant			
	20 - Richardson, Mark	4/27/2021	2.00	130.00	260.00	
	Utility Exhibits and informa	tion for 2020 bond pr	ogram utility meet	ing		
	20 - Richardson, Mark	4/30/2021	1.00	130.00	130.00	
	Site visit and scope drafting	for 2020 Bond Progra	am			
	Totals		11.00		1,730.00	
	Total Labor					1,730.00

Professiona	al Personnel		**	<b>D</b> 4		
Project Mar	ngger		Hours	Rate	Amount	
Toject Iviai	6 - Odreman, Gabriel	4/23/2021	2.00	205.00	410.00	
	Defining scope and contact			203.00	410.00	
Associate E		ing consultant to seek i	ee proposar			
01175	9 - Edwards, Katlyn	4/8/2021	.50	130.00	65.00	
01173	helping prepare scope	4/0/2021	.50	130.00	03.00	
	9 - Hurt, Ryan	4/9/2021	.50	130.00	65.00	
	.Writing a details description				03.00	
	program	on or the project scopes	for the 2020 bone	i illoomity		
	9 - Hurt, Ryan	4/12/2021	1.50	130.00	195.00	
	Create a detailed desiption			130.00	175.00	
	9 - Hurt, Ryan	4/15/2021	1.00	130.00	130.00	
	-		1.00	130.00	130.00	
	Site visit and Utility review	-	2.00	120.00	260.00	
	9 - Hurt, Ryan	4/26/2021	2.00	130.00	260.00	
	Preparing 2020 bond project		1.00	120.00	120.00	
	9 - Hurt, Ryan	4/27/2021	1.00	130.00	130.00	
	Preparing 2020 bond project			4.00.00	40.500	
	20 - Richardson, Mark	4/22/2021	1.50	130.00	195.00	
	Draft of scope, exhibits, an	d cost estimates for con				
	Totals		10.00		1,450.00	
	Total Labor					1,450.
						\$1,450.
Professions	al Personnel					
	al Personnel		Hours	Rate	Amount	
	nager	4/22/2021				
	nager 6 - Odreman, Gabriel	4/22/2021	2.00	<b>Rate</b> 205.00	<b>Amount</b> 410.00	
	nager 6 - Odreman, Gabriel Defining scope and contact	ting consultant to seek f	2.00 ee proposal	205.00	410.00	
	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel	ting consultant to seek f 4/27/2021	2.00 See proposal 2.00			
	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de	ting consultant to seek f 4/27/2021 ocument preparation for	2.00 See proposal 2.00 r scope definition	205.00 205.00	410.00 410.00	
	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021	2.00 Fee proposal 2.00 r scope definition 1.00	205.00	410.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021	2.00 Fee proposal 2.00 r scope definition 1.00	205.00 205.00	410.00 410.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for	2.00 See proposal 2.00 The scope definition 1.00 The scope definition	205.00 205.00 205.00	410.00 410.00 205.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021	2.00 ree proposal 2.00 r scope definition 1.00 r scope definition .50	205.00 205.00 205.00 130.00	410.00 410.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021	2.00 ree proposal 2.00 r scope definition 1.00 r scope definition .50	205.00 205.00 205.00 130.00	410.00 410.00 205.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes	2.00 Fee proposal 2.00 To scope definition 1.00 To scope definition .50 To the 2020 bond	205.00 205.00 205.00 130.00 mobility	410.00 410.00 205.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and definition of the de	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021 on of the project scopes a	2.00 The proposal 2.00 The scope definition 1.00 The scope definition 2.50 The scope definition 2.00	205.00 205.00 205.00 130.00	410.00 410.00 205.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and defended	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes:  4/13/2021  for the 2020 bond project	2.00 See proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope	205.00 205.00 205.00 130.00 mobility 130.00	410.00 410.00 205.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes =  4/13/2021  for the 2020 bond project  4/15/2021	2.00 The proposal 2.00 The scope definition 1.00 The scope definition 2.50 The scope definition 2.00	205.00 205.00 205.00 130.00 mobility	410.00 410.00 205.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes =  4/13/2021  for the 2020 bond project  4/15/2021	2.00 Fee proposal 2.00 The scope definition 1.00 The scope definition 2.50 The scope definition 2.00 The scope definition d	205.00 205.00 205.00 130.00 mobility 130.00	410.00 410.00 205.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes a  4/13/2021  for the 2020 bond project  4/15/2021  v report  4/26/2021	2.00 See proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope	205.00 205.00 205.00 130.00 mobility 130.00	410.00 410.00 205.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes:  4/13/2021  for the 2020 bond project scopes:  4/15/2021  v report  4/26/2021  ct exhibits	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope 1.00 1.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes  4/13/2021  for the 2020 bond project  4/26/2021  or report  4/26/2021  ct exhibits  4/27/2021	2.00 Fee proposal 2.00 The scope definition 1.00 The scope definition 2.50 The scope definition 2.00 The scope definition d	205.00 205.00 205.00 130.00 mobility 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes  4/13/2021  for the 2020 bond project  4/26/2021  or report  4/26/2021  ct exhibits  4/27/2021	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope 1.00 1.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 20 - Richardson, Mark	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021 on of the project scopes and $4/13/2021$ for the 2020 bond project $4/15/2021$ ov report $4/26/2021$ oct exhibits $4/27/2021$ oct exhibits $4/16/2021$	2.00 Fee proposal 2.00 Tr scope definition 1.00 Tr scope definition 2.50 for the 2020 bond 2.00 ect scope 1.00 1.00 .50 1.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021 on of the project scopes and $4/13/2021$ for the 2020 bond project $4/15/2021$ ov report $4/26/2021$ oct exhibits $4/27/2021$ oct exhibits $4/16/2021$	2.00 Fee proposal 2.00 Tr scope definition 1.00 Tr scope definition 2.50 for the 2020 bond 2.00 ect scope 1.00 1.00 .50 1.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00 130.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de Ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 20 - Richardson, Mark Scoping and coordination visits	ting consultant to seek f 4/27/2021 ocument preparation for 4/28/2021 ocument preparation for 4/9/2021 on of the project scopes and $4/13/2021$ for the 2020 bond project $4/15/2021$ ov report $4/26/2021$ oct exhibits $4/27/2021$ oct exhibits $4/16/2021$	2.00 Fee proposal 2.00 Tr scope definition 1.00 Tr scope definition 2.50 for the 2020 bond 2.00 ect scope 1.00 1.00 .50 1.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00 130.00	410.00 410.00 205.00 65.00 260.00 130.00 130.00 65.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 10 - Richardson, Mark Scoping and coordination wat standards and information	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes and the project scopes are project scopes and the project scopes and the project scopes are project scopes are project scopes and the project scopes are project scopes and the project scopes are project scopes	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope 1.00 1.00 .50 1.00 ensure they have 2.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00 130.00 130.00 correct 130.00	410.00 410.00 205.00 65.00 260.00 130.00 65.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 20 - Richardson, Mark Scoping and coordination vestandards and information 20 - Richardson, Mark	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes and the project scopes are project scopes and the project scopes and the project scopes are project scopes are project scopes and the project scopes are project scopes and the project scopes are project scopes	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ect scope 1.00 1.00 .50 1.00 ensure they have 2.00	205.00 205.00 205.00 130.00 mobility 130.00 130.00 130.00 130.00 correct 130.00	410.00 410.00 205.00 65.00 260.00 130.00 65.00 130.00	
Project Mar	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de fingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 10 - Richardson, Mark Scoping and coordination of standards and information 20 - Richardson, Mark Utility Exhibits and inform 20 - Richardson, Mark	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes:  4/13/2021  for the 2020 bond project  4/26/2021  ot exhibits  4/27/2021  ct exhibits  4/16/2021  with design engineer to a  4/27/2021  action for 2020 bond project  4/30/2021	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ext scope 1.00 1.00 .50 1.00 ensure they have 2.00 ogram utility meet 1.00	205.00 205.00 205.00 130.00 130.00 130.00 130.00 130.00 130.00 correct 130.00 ing	410.00 410.00 205.00 65.00 130.00 130.00 65.00 130.00	
Professiona Project Mar Associate E	nager 6 - Odreman, Gabriel Defining scope and contact 6 - Odreman, Gabriel Proposal negotiation and de 6 - Odreman, Gabriel Proposal negotiation and de ingineer 9 - Hurt, Ryan Writing a details description program 9 - Hurt, Ryan Create a detailed desiption 9 - Hurt, Ryan Site visit and Utility review 9 - Hurt, Ryan Preparing 2020 bond project 9 - Hurt, Ryan Preparing 2020 bond project 20 - Richardson, Mark Scoping and coordination vistandards and information 20 - Richardson, Mark Utility Exhibits and information	ting consultant to seek f  4/27/2021  ocument preparation for  4/28/2021  ocument preparation for  4/9/2021  on of the project scopes:  4/13/2021  for the 2020 bond project  4/26/2021  ot exhibits  4/27/2021  ct exhibits  4/16/2021  with design engineer to a  4/27/2021  action for 2020 bond project  4/30/2021	2.00 fee proposal 2.00 r scope definition 1.00 r scope definition .50 for the 2020 bond 2.00 ext scope 1.00 1.00 .50 1.00 ensure they have 2.00 ogram utility meet 1.00	205.00 205.00 205.00 130.00 130.00 130.00 130.00 130.00 130.00 correct 130.00 ing	410.00 410.00 205.00 65.00 130.00 130.00 65.00 130.00	

Fort Bend County 2020 Mobility Bond

Invoice

421061

\$1,730.00

Project

008032

Project	008032	Fort Bend County 2020 Mobility Bond	Invoice	421061
				\$2,195.00

# **Professional Personnel**

			Hours	Rate	Amount
Project Manager					
6	- Bathe, Cody	4/15/2021	2.00	205.00	410.00
6	- Bathe, Cody	4/16/2021	2.00	205.00	410.00
6	- Odreman, Gabriel	4/9/2021	2.00	205.00	410.00
So	coping communications with co	nsultants			
	- · · · · · · · · · · · · · · · · · · ·	4/12/2021	1.00	205.00	205.00
So	cope development for contacting	g consultants for propos	als		
	- · · · · · · · · · · · · · · · · · · ·	4/13/2021	1.00	205.00	205.00
So	cope development for contacting	g consultants for propos	als		
6	- Odreman, Gabriel	4/21/2021	1.00	205.00	205.00
D	efining scope and contacting co	nsultant to seek fee prop	posal		
6	- Odreman, Gabriel	4/27/2021	1.00	205.00	205.00
Pı	roposal negotiation and docume	nt preparation for scope	definition		
6	- Odreman, Gabriel	4/28/2021	1.00	205.00	205.00
Associate Engine	eer				
9	- Hurt, Ryan	4/9/2021	.50	130.00	65.00
	Vriting a details description of the rogram	ne project scopes for the	2020 bond m	obility	
9	- Hurt, Ryan	4/12/2021	1.00	130.00	130.00
C	reate a detailed desiption for the	e 2020 bond project scop	pe		
9	- Hurt, Ryan	4/13/2021	2.00	130.00	260.00
C	reate a detailed desiption for the	e 2020 bond project scop	pe		
9	- Hurt, Ryan	4/14/2021	.50	130.00	65.00
C	reate a detailed desiption for the	e 2020 bond project scop	pe		
9	- Hurt, Ryan	4/15/2021	1.00	130.00	130.00
Si	ite visit and Utility review repor	t			
9	- Hurt, Ryan	4/26/2021	1.00	130.00	130.00
Pı	reparing 2020 bond project exhi	bits			
9	- Hurt, Ryan	4/27/2021	1.00	130.00	130.00
Pı	reparing 2020 bond project exhi	bits			
20	0 - Richardson, Mark	4/16/2021	1.00	130.00	130.00
	coping and coordination with de andards and information	esign engineer to ensure	they have co	rrect	
20	0 - Richardson, Mark	4/21/2021	1.50	130.00	195.00
D	raft of scope, exhibits, and cost	estimates for consultant	t		
20	0 - Richardson, Mark	4/27/2021	2.00	130.00	260.00
U	tility Exhibits and information t	for 2020 bond program	utility meeting	g	
	=	4/30/2021	1.00	130.00	130.00
Si	ite visit and scope drafting for 2	020 Bond Program			
	Totals	-	23.50		3,880.00
	Total Labor				

3,880.00

\$3,880.00

# **Professional Personnel**

		Hours	Rate	Amount
Project Manager				
6 - Bathe, Cody	4/15/2021	2.00	205.00	410.00
6 - Bathe, Cody	4/30/2021	2.00	205.00	410.00
6 - Odreman, Gabriel	4/16/2021	4.00	205.00	820.00
Project coordination with C	Consultant			
6 - Odreman, Gabriel	4/23/2021	2.00	205.00	410.00
Defining scope and contact	ing consultant to seek t	ee proposal		

Project	008032	2	Fort Bend County 202	0 Mobility Bond		Invoice	421061
	6 - Odrer	nan, Gabriel	4/26/2021	2.00	205.00	410.00	
	Proposal	negotiation and doc	cument preparation for	scope definition			
Associate	Engineer						
	9 - Hurt,	-	4/9/2021	.50	130.00	65.00	
	Writing a program	details description	of the project scopes f	or the 2020 bond	mobility		
	9 - Hurt,	-	4/12/2021	2.00	130.00	260.00	
		•	or the 2020 bond project	•			
	9 - Hurt,	•	4/13/2021	2.00	130.00	260.00	
		-	or the 2020 bond project	-	100.00	• • • • • •	
	9 - Hurt,	-	4/15/2021	2.00	130.00	260.00	
		and Utility review	-	1.00	120.00	120.00	
	9 - Hurt,	Ryan g 2020 bond project	4/26/2021	1.00	130.00	130.00	
	9 - Hurt,		4/27/2021	.50	130.00	65.00	
		g 2020 bond project		.50	130.00	05.00	
		ardson, Mark	4/14/2021	2.00	130.00	260.00	
			ith design engineer to e			200.00	
		and information	seeign engineer to e				
	20 - Rich	ardson, Mark	4/21/2021	3.00	130.00	390.00	
	Draft of s	scope, exhibits, and	cost estimates for cons	sultant			
	20 - Rich	ardson, Mark	4/27/2021	2.00	130.00	260.00	
	Utility E	xhibits and informa	tion for 2020 bond prog	gram utility meet	ing		
		ardson, Mark	4/30/2021	1.00	130.00	130.00	
	Site visit		for 2020 Bond Program				
		Totals		28.00		4,540.00	4.740.00
		Total Labor					4,540.00
							\$4,540.00
Profession	nal Personnel						
				Hours	Rate	Amount	
Associate	Engineer						
001175	-	rds, Katlyn	4/8/2021	.50	130.00	65.00	
	helping p	repare scope					
	9 - Hurt,	Ryan	4/9/2021	.50	130.00	65.00	
		details description	of the project scopes f	or the 2020 bond	mobility		
	program						
		ardson, Mark	4/15/2021	1.00	130.00	130.00	
	Coordina subconsu		n on environmental nee	eds for project fro	om		
	subconsu	Totals		2.00		260.00	
		Total Labor		2.00		200.00	260.00
		10001 20001					_00,00
							\$260.00
							Ψ200.00
Reimburs	sable Expense	es					
Reim Exp	_						
EX 00	0000024685	4/15/2021	Hurt, Ryan / Office	e to first job site	40.00 miles	22.40	
EV 00	0000024605	4/16/2021	@ 0.56	es to projects for	sito visita /	54.22	
EX 00	0000024695	4/16/2021	Bathe, Cody / Driv Drive to project sit			54.32	
			meeting / 97.00 m		,		
		<b>Total Reimburs</b>	ables		1.0 times	76.72	76.72
							\$76.72
							ψ/ <b>0•</b> /2

Project	008032	Fort Bend County 2020 Mobility Bond	Invoice	421061
				\$23,341.72
			Total this Report	\$23,341.72